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What is the correct ascending order of the bond dalll 888 Cus (e prassall oo lall) Al L

strength (from the weakest — to the strongest) (aaLkl U_h-_ﬂf'l N aalk JaY! ()
for the bonds in the figure below? Polial UKL Bagagall Jaslg ,l
& o
° o0 ° o © S
'Y ) 9 0
N#N:  O= .
o 8
© @
N2 < O2 < H2 02 < N2< H2
Lowest —> Highest Lowest —> Highest
Y —> ey JaY —> ey
H < O2< N2 N2 < H2< O2
Lowest —> Highest Lowest —> Highest
gy — el gy — eV




Which of the following is NOT a sign for chemical change? f LSl delall Eigan Cilpdise (po ud b Las (:gi

Bubble forming a8laall (y3s

Wwarming




2aanl)
oad

E

Freezing
Color change




How does increasing the surface area of reactants ke Linall C_Luji dalua 821y Jaad (oS

increases the rate of a reaction? fdelall deyu 82l e

‘ By increasing the activation energy Laanl 45l ssl:,j:,‘

‘ By increasing the reactants concentration cOle liall €5 83l ‘
By increasing contact between particles Glavead) s uedlall 32l

‘ By increasing the particles average speed Gilareall Aoy Jangia 82L ‘




When you walk across a carpeted floor on a dry day, )
Clll (gHlall mndall clidg cals ag & Baladl e (o Laxie

and reached for a metal doorknob, you feel a small shock.
faarall 228 e Lo . 400yeS dara oy 4

What caused this shock?

Electric discharge e esll & el
‘ Electric insulator b yesl) djuﬂ‘
‘ Electric field S d@m‘

‘ Electric force REC RN 55]1‘




Which of the following statements is correct

¢olial Gl jadl glais Laad dasaia 3060 eyl (_gi
regarding the molecules below? ) )

Both molecules are polar L-,—‘Lﬂ Gyl SIS ‘
Both molecules are nonpolar b e Cpiiall DS ‘
O, is polar because the shared electrons 45 Lol il 2STY) oY ks O, ssidl and
are pulled equally by the two oxygen atoms CaaSY) d Al ggleally 13ad
H,O molecule is polar because the shared electrons are AS)Laal) s S oY Luka H,0 syl 2ad

pulled closer to the oxygen atom than the hydrogen atoms ceng el bt e ST ansY 550 olat Lda



The atoms in the diagram below form a bond from combining
Na a5 53 aladl (e dasls Ayl olial  Jaudadsl) anyll 3 ) (38

a5l Ayl Jish 3 pramaall Jasladil eyl Lo ¢ Cl yglS 53 e

sodium atom Na with chlorine atom CI, which diagram of the

following is the correct representation of the bond formed?

Vi o

(O




How does a Battery generate an electric current in a circuit?

Pt 3l 8 LabeS s duyldadd) s i

Creates negative electric charges and pushes them into the circuit

5l 1) Lgaiig Al ciling Al

Moves the negative electric charges that are already in the circuit

50l 8 Lalod agmgall AUl culin ) & jan

| Creates positive electric charges and pushes them into the circuit

5 ) lgadiy dumge cilind Al |

| Destroys positive electric charges, which it pulls from the circuit

5 (e lganas Al Ao gl ALl ilinl a_.a.tul




What is the correct sequence of energy transformation
5 el e 4 A8l Nl praaal) Judeal) L

in the car engine?

Chemical — thermal — mechanical LS «— 4l «— AdlasS
Thermal — kinetic — potential ey AS A :’*;*Jbl‘
Thermal — mechanical — potential ey Al «— ol ‘

Mechanical — chemical — Thermal dpha ol «— 4SalSaa ‘




What do the negative signs represent in the below figure? ¢alial U<l & Al chlay) Jid 1k

Y Y W 9 4 ;: E
@ @
‘- 6 - ‘-
\% - _- Al* — 3 — —
—-7 " -~ -
Metal’s valance electrons Slell galsal) ¢l g i<l
‘Metal’s nuclei Sl ‘_553‘
‘ Metal’s inner electrons Slell dalaall ¢l g ;<Y ‘

‘ Metal’s protons ) aujsﬁ‘




Which of the following is the correct balanced delall daaall d3gj5all daleall & 406l Y aleal) (10 (1_51

equation for the chemical reaction below? €ala i gall

..... Al + ... HCl — ... AlCls + ..... H;

2Al + 6HCI — 2AICls + 3H;

Al + 3HC| — AICls + H;

3Al + 3HClI — 3AIClz + 3H;

2Al + 3HCI — 2AICIz + 2H;




Which of the following is correct regarding the graph below? falsl bl an )l (Glady Legd Aasaua 40U & ) éi

Energy
)

products

sl

3!

Time
Reaction | is more exothermic than reaction 2 2 Jelall e 5ylall bl a<H ] Jnuﬂ'.‘
Reaction 2 requires less activation energy than reaction | I delal (e J8) st dall 3 2 Jelil) o liay
Reaction 2 requires more reactants than reaction | 1 delal e 5T eDleling N 2 Jelall cl_m‘

\ Reaction 2 takes more time than reaction | 1 delall fe Johal ey 2 Jelall (3 yates ‘




Which of the following has the highest kinetic energy?

00 il Ll L) L L

A car parked on a steep hill

JM&‘_AQE_&EJLEJ@

A football rolling across the court

‘ A picture hanging on the wall

_L.zuuglci_ﬂusﬂm‘

‘A piece of coal before it's burned




What is the type of chemical reaction represented ‘ .
| €oliaf Alalaall alich g3 iluasSl) Jelidl) g 4 L
by the equation below? i

AB— A+B
Decomposition reaction Sa Je iy
‘Combustion reaction N J;-,Ln_,‘
‘ Single replacement reaction Lﬂgﬂzj Jlasd qu_,‘

Double replacement reaction Zo2e Jlasicd ._JLLL!‘




How does the thermostat in the figure below detects 028501l By a daja 3 Jabayl slal UKl a5l abia (283G Cas

an increase in the room temperature?

.‘ S .'r'
e
- W
An increase in thermal energy causes a bimetallic Sl el Caladl o) Ao i (el A8kl 3 sl
coil to curl
An increase in thermal energy causes a bimetallic Slall Al Calall sfl o madts oA ljadl A8 3 sl
coil to uncurl
‘ A switch causes a bimetallic coil to curl Slall Al calall oLl 8 - ldell iy ‘

‘ A switch causes a bimetallic coil to uncurl Sl AUl calall ~ el 8 - el oy ‘




Which of the following sentences is incorrect regarding fa8llall Cbgiceag )AL (3lat Lasd dAaaa e AN el e {T.gi

the atom and the energy levels?

Electrons farthest from the nucleus have the greatest amount o OgSad cdilhall (e YT Al 8l e eV cilig S

of energy, they are in the highest energy level aillall ©ligie e
Only valence electrons are involved in chemical bonding LAl Jalg ll (36Ss A Jagd galsall i il o Hlas
Only valence electrons are represented as dots around the seaiall el jepll Joa et 2 e g gl i gl Juad
element’s chemical symbol in the electron dot diagram (Lewis) (Uagl) wlig pCBU ool Joall 8
When an atom forms a bond, it gains, loses, or shares valence i i< Sl o) caiSs gl dai 5 4 Al dda Caa 2ie

electrons with other atoms to have the highest energy level Al e ggre el ) Jeail (oAl @) e

1l



The figure below shows two different samples of air, keeping in ) )
b cluiall o caale 13 celggll o nalid e fyitae sUal JSAN i)

mind that particles in sample X are faster than the particles in _ )
fhasaa AN @hlal) o) Y Luall 3 cliiall Ga g ul X dil)

sample Y, which of the following statements is correct?

Y i) X sl
Sample Y Sample X
Sample X is at a higher temperature than sample Y Y duall (e Aef 3 ) o da s & X auall
The average potential energy for sample X and Y are equal Y o X il & oluiie pudagll A3l dasgie ‘
‘ Sample Y has a higher average kinetic energy than sample X X dall i 58T Y diell A€iat) 48l Laisgia ‘

Sample Y has a higher average thermal energy than sample X X dall lgie Al Y 2iall Z:Ub;.ﬂ aslall b gia ‘




What correctly explains the balloon rising high in the sky, celaadl @ el ) aUasdll ¢ ) mana S0 et (ol L
as shown in the figure below? $alial J<all o WS

Thermal contraction, since the balloon’s air density decreases Alaiall Jads glggll 8BS Jan Gun o glall ELSEY)
Thermal expansion, since the balloon’s air density decreases Alaiall Jads glegll AABS i Gun o gyhaldl saall
Thermal expansion, since the balloon’s air density increases allaiall Jala glgell 8BS Aot Eua (gl yal) amﬂt‘

‘ Thermal contraction, since the balloon’s air density increases slaiall JAls glagll 8BS alays Eua ¢ gyladl (ELaSIY) ‘




Which of the following is the correct representation of
electron dot diagram for magnesium atom Mg?

magnesium atomic number =12

oMg.

.Mg

TMg o sressiaall 5,3 ganal) cilig S Jadil) JAaT o A6 e
].2 = ?5—‘-‘-‘-1443—&““ -“ é).}lj. .:l\l'l'_h

Mg

‘Me-




Which of the following is related to the high specific heat of water?

A large amount of energy is needed to increase the temperature of water

2oLl Zuo il Byl g Uil oy s L o

Pools, lakes, and ocean stay hot in summer

Cianall b 253k il lly il lly dalad) (alpal s ‘

‘ A small amount of energy is needed to increase the temperature of water

G Ay s S B (e Spia LS oLl CL,;_,‘

The temperature of water is rapidly affected with any change in energy

B 5 i (gl die A ol sl dan ‘




Which of the following statements is correct regarding the figure below? Eolial JSaIL ety Lagh Aaaaa 40001 ol jlual) q;i

magnet
movment

Figure 2 is an electromagnet that turns a hard magnetic core into eonhliaall Gl Joan Gan 5L 3eS Gulaliae 2 (<81
a permanent magnet Al pehles ) Glall
Figure 1 is electric generator where the movement of a magnetic field of smhlizall Jlaall 45 a :.l_;i Gun AbjeS Alga 1 AN
the magnet around a coil of wire generates an electric current in the circuit syl 8 'ltuLl_)gs b‘l_“ﬁ SLA Cale Jon Gnlaliaall
Figure 2 is used to produce the electric current that is supplied to homes, Jylaall a4 3_1)3 A SlyeSih Hlall adgl 20 <8N anand
Oaally (Shaally

buildings, and cities

Figure 1 is used to convert nonmagnetic materials into temporary Age M denhliaall e dgall Jigant T J<KEN 2050

magnetic materials A8 g0 dnlalias




Boron trifluoride molecules contains one boron atom and three sty Ay Baaly gy B2 (e Ogsd) 2yl SO e(gha (g

fluorine atoms. What is the correct chemical formula for it? faannall Ablasl diia W

BFs

‘(BF)s‘




Which of the following statements is correct Glaty Lo dasana 400N ¢l jlall

regarding the figures below? Solial JISaYL,

The material in figure 1 can be made using electrical Cllaseadl) alasnal lgavan (Ko 1 JSa0 3 5alal)
magnetizers 450 <)
The material in figure 1 found only naturally in Ly Byd8 s Lieds 338 amdgn 1 J<al 3 sl
the Earth’s crust and called the lodestone pabliaadl jas _ewng
The material in figure 3 represents nonmagnetic ;whﬁfl Jie cdaghline je dge i 3 J<EN 8 saldl)

materials, e.g., aluminum

The material in figure 2 can be turned into Cije pahline ) leligas (K 2 J<al 38 salal)

a temporary magnet




If you know that wool gives up electrons easier than cobal) Jais Lae Jgud clig s e Jai Caigeal) o) Caale 1)
cotton does. :'.:I!F dxlad O wLﬁ l.ilj.’i:s e ‘_;\.135 u.a.._ui ‘;\Q a Al Lad
What is the charge on a cotton shirt when a wool o .

g § Akl (anad

sweater comes into contact with it?

Negative charge il lls
‘ Positive charge PR | %y‘
‘ Neutral daLﬂ.@‘

Polarized ladiine




Which of the following is a single replacement reaction? fgalal Jlagul Jelii Al Laa 6

MgCO3 — MgO + CO»

2Na + 2H, O — 2NaOH + H»

2H> + 0, — 2H20

2Pb(NOs)2 — 2PbO + 4NO2 + 02




In the electrical circuit below, which two switches S labtiadl L colial 4L yeSl) Byl 3

will turn off all the light bulbs (1, 2, 3, 4, and 5) (55453525 1) pulad) JS lishy
at the same time (the circuit will be open)? T(Aagita L00)eSH 300l o) destd a8l
1 3
= T4
Battery .. Al |
?
2(2) :
Light Bulb loama S S
@ . 4<§>
o i
Switch _{_::5’" | =i A .
c 5
Wire -— Sl }f \

B ,A

CJA‘

DJA‘

DJB‘




